
Trigonometric Functions 

Multiple Choice Questions 

 

4 and 6 Marks Questions 

1. Find the radian measure of the following angles : ���°, −��°���, 	
�°, ��°
��	 
2. Find the degree measure of the following angles : 		,−�, 	�
� , 
�  

3. Find the degree measure of the angle subtended at the centre of a circle of radius 50cm by an arc of 

length 20cm. 

4. Find the values of other five trigonometric functions in each of the following : 

(i) ���� = 	

� 	 , where � lies in the third quadrant. 

(ii) ��� � = �
� , where � lies in the fourth quadrant. 

5. Find the values of the following : ����−	
��°� , ����	���°� , ����	���°� , ����−		
�°�	. 
 

1 If  ���� = ����  then � �
�   is equal to : 

(a)�                                       (b)√�                                             (c)	                                        (d)∞      

2 Degree measure of angle 


� is : 

(a)��°                                   (b)	��°                                         (c)#�°                                     (d)��°             
3 Radian measure of angle 
	�° is : 

(a)



�                                       (b)

�


                                               (c)

�

#                                        (d)

#

�        

4 ���
 � − ���
 �  is equal to : 

(a)�                                        (b)	                                                (c)���
�                               (d)���
�     

5 If  ��� � = �
�  then ���� is equal to : 

(a)
�
�                                         (b)

�
�                                                 (c)

�
�                                          (d)

�
�                 

6 ����	�� + ��	 is equal to : 

(a)��� �                                (b)− ����                                    (c)��� �                                   (d)−���� 

7 Which of the following is false ? 

(a)���� ∈ [−	, 	]              (b)��� � ∈ ��, 	�                         (c)��� � ∈ ℝ                          (d)��� � ∉ �−	, 	�   

8 ������∘ − ��	 is equal to : 

(a)
	+����
	,����                               (b)


 ����
	,���
 �                                     (c)

	,����
	+����                                 (d)


 ����
	+���
 �     

9 ��� �

			 is equal to : 

(a)-	+����

                             (b)-	,����


                                      (c)	√	,����
                              (d)none of these                           

10 If  in  ./01  ∠/ = ��°  and  ∠0 = ��°		  then  ����∠1�  is equal to : 

(a)	                                        (b)�                                                  (c)−	                                      (d)none of these   

11 ���	�°  is equal to : 

(a)
3	�,
√�

�                             (b)	3	�+
√�
�                                       (c)	√�+	�                                    (d)

√�,	
�                



 

6. Prove that : 

(i) ���
�° �����° ���#�° �����° = 	
	# 

(ii) ���	�° �����° ���#�° �����° = √�
	# 

(iii) ����� ��� �,��� �����#�
��� 
� ��� �,���������� = ���
� 

(iv) 
���� = 3
+	√
 + 
 �����	 
(v) ���� ���
� ����� ����� = ���	#�

	# ����  

(vi) ��� 		°+���		°
��� 		°,���		° = ����#°  

7. Prove that ���	�° = √�,	
�   and hence find the values of ���	�° 	 , ��� 	�°. 

8. Find ����/
	, ����/
	, ����/
 in each of the following : 

(i) ���� = − �
� , � lies in the second quadrant. 

(ii) ���� = − �
	
 , � lies in the fourth quadrant. 

(iii) ����� � = − � , � lies in the third quadrant. 
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